REV REV IS IONS
B (DTB-12P¥BO16 | sym DESCRIPTION DATE | APPROVED
NC |NEW RELEASE PER E.O. PI801I2 1/16/03 | R.D.R.
A [REVISED PER E.O. P19187 6/22/06] R.D.R.
B |REVISED PER E.O. P21065 F-26-/) | O
440
[11.181]
—] |m— |22
[3.10]
‘0883] B
[2
- 4X @110 [2.79]
A FLANGE SEAL NN BLIND HOLE
| ¥ .315 [8.00]
N B 062 #4-20 SCREW
[1.57] |
>y
r )
2.33| — | 381 cp5 815
[59.211] . T [35.08] ; “3.34] [22.23]
D ‘
= i
175
[4.45]
Y |
2X @.122 [3.10] S YT S 1 o] 359 |l
BLIND HOLE [15.52] [9.12]
V.440 [11.18]
#6-19 SCREW ~— | .37 == - 840 =
[34.821] [21.34]
- |.388 —
6. RECOMMENDED TORQUE VALUES ARE AS FOLLOWS: #6-19 SCREWS: 10-20 IN LB. [35.261]
[1.13-2.26 N ml. #4-20 SCREWS: 6-10 IN LB. [.68-1.13 N ml. @5
5. MOUNTING HOLES WILL ACCEPT CAMCAR PLASTITE SELF THREAD SCREWS
(NOT INCLUDED). EXAMPLE: #6-19, #4-20. SIGNATURE 8 DATE Pgﬂw RECEP;ACLE EP CObE
DR
4. THIS RECEPTACLE MATES WITH DTO6-125% PLUG -s*#- ALL MODIFICATIONS £, BURNE 1/8/03 m"wmm" ALLS T U
cik [ BRVXed Yot/700 , DEUTSCH
3. SHELL MATERIAL: PLASTIC; FLANGE SEAL MATERIAL: RUBBER. e |Clicte €/c/il DT SERIES ~ TRDUSTRTAL
2. DIMENSION TOLERANCE +.025 [.641. FOR PANEL CUTOUTS £.010 [.25]. B DT15-12P%-B016
NOTES: APPD W]
|. DIMENSIONS SHOWN ARE IN INCHES [MMI. T ENVELOPE o




NOTES:

DEUTSCH-IPD

DT15-12PA-BO16
COLOR: GREY

DT15-12PB-BO16
COLOR: BLACK

DT15-12PC-B016
COLOR: GREEN

SEE SHEET ONE

REV

DT15-12P%-B016

DT15-12PD-BO16
COLOR: BROWN

REVISIONS
SYM DESCRIPTION DATE | APPROVED
B | SEE SHEET ONE 8,?6~//£b/?
—— | 637 —=
[41.58]
R.040
. 395
[1.02] [35.43) 2
! L ‘
440 916
[11.18] [23.271]
? \ I\SK '
‘ . 94] ~ %%
R 100 [49.30] -
[2.54]
—— | 637 —==
[41.58] R 155

[6.35]

SIGNATURE & DATE

DR

P. BURKE 1/8/03

CHK

hhed G440

PE

Llhicle 6 /'s/ /l

APPD

SCALE

NONE

PCB
12

[49.30]
MOUNT RECEPTACLE |EP WATL
P STRheeT TALS | 8 ey
DT SERES DEUTSCH
B | DTI5-12P%-B016
ENVELOPE owe | oOBE, SHEET 2OF 2




